

δ_0

$$a_1 + a_k = \gamma_1$$

$$a_1 + a_2 = 1r$$

δ_1

③

$$a_1 + a_2 + a_3 = 1r$$

$$a_1 + a_2 + a_3 = 1r$$

④

○

$$a_1 + a_2 + a_3 + a_4 = 1r$$

$$S_1 = \frac{1}{2} \left(\frac{1}{2} - 1 \right) \rightarrow \frac{1}{2} - 1 = \frac{1}{2}$$

⑤

○

$$S_1 = \frac{1}{2} \left(\frac{1}{2} - 1 \right) = \frac{1}{2}$$

⑥

○

○

⑦

$$a_n = \frac{1}{\sqrt{n+1}}$$

$$a_n = a_{n-1} \cdot \frac{1}{\sqrt{n}}$$

$$a_1 \cdot x a_n = a_n$$

$$a_n = a_1 x a_n = \frac{1}{\sqrt{n}} = \sqrt{n} = \sqrt{n} = \sqrt{n}$$

$$a_n = \frac{1}{\sqrt{n}} \rightarrow \frac{1}{\sqrt{n+1}} = \frac{1}{\sqrt{n}} \cdot \frac{1}{\sqrt{1+\frac{1}{n}}} \rightarrow \frac{1}{\sqrt{n+1}} = \frac{1}{\sqrt{n}} \cdot \frac{1}{\sqrt{1+\frac{1}{n}}}$$

$$a_{n+1} = \frac{1}{\sqrt{n+1}} \rightarrow \frac{1}{\sqrt{n+1}} = \frac{1}{\sqrt{n}} \cdot \frac{1}{\sqrt{1+\frac{1}{n}}}$$

$$a_n = \frac{1}{\sqrt{n}} \rightarrow a_{n+1} = \frac{1}{\sqrt{n+1}}$$

$$a_n = \frac{1}{\sqrt{n}} \rightarrow a_{n+1} = \frac{1}{\sqrt{n+1}}$$

$$\frac{a_n}{a_{n+1}} = \sqrt{n+1} \rightarrow \sqrt{n+1} = \sqrt{n} \cdot \sqrt{1+\frac{1}{n}} \rightarrow \sqrt{n+1} = \sqrt{n} \cdot \sqrt{1+\frac{1}{n}}$$

$$a_1 = \frac{1}{\sqrt{1}} = 1$$

$$(a_n)^2 = \frac{1}{n} \rightarrow a_n = \frac{1}{\sqrt{n}}$$

$$(a_n)^2 = \frac{1}{n} \rightarrow a_n = \frac{1}{\sqrt{n}}$$

$$a_n = \frac{1}{\sqrt{n}}$$

$$a_{n+1} = \frac{1}{\sqrt{n+1}} \rightarrow \frac{1}{\sqrt{n+1}} = \frac{1}{\sqrt{n}} \cdot \frac{1}{\sqrt{1+\frac{1}{n}}}$$

$$a_n = \frac{1}{\sqrt{n}} \rightarrow a_{n+1} = \frac{1}{\sqrt{n+1}}$$

$$a_n = \frac{1}{\sqrt{n}}$$

$$(1-n)(1+n) = n^2$$

$$1-n^2 = n^2 \rightarrow n^2 = 1$$

$$n^2 = \frac{1}{n} \rightarrow n = \pm \frac{1}{\sqrt{n}}$$

dotnote

$$\frac{-\sqrt{1 \pm \sqrt{1 \pm \sqrt{1 \pm \dots}}}}{1 \pm \sqrt{1 \pm \sqrt{1 \pm \dots}}} = \sqrt{1 \pm \sqrt{1 \pm \sqrt{1 \pm \dots}}}$$

لایق لاسق

انام ۲۲

$$\begin{aligned} a + aq^r &= 11 \\ aq + aq^r &= 12 \end{aligned} \rightarrow \frac{a(1+q^r)}{aq(1+q)} = \frac{(q^r - q + 1)}{q} = \frac{1}{3}$$

$$3q^r - 3q + 3 = 12q \rightarrow 3q^r - 12q + 3 = 0 \xrightarrow{\text{نویس}} q^r - 4q + 1 = 0$$

$$q < \frac{4}{3} \leq q < \frac{1}{3}$$

$$q = 3 \rightarrow a(1+27) = 11 \rightarrow a < 1 \rightarrow 1, 2, 9, 27$$

$$q = \frac{1}{3} \rightarrow \frac{a}{3} + \frac{a}{9} = 12 \rightarrow \frac{4a}{9} = 12 \rightarrow a = 27$$

$$27, 9, 3, 1 \rightarrow \max S_{\text{مجموعه}} \rightarrow 27$$

$$\begin{aligned} a_1 &= \frac{a}{q} \\ a_2 &= a \\ a_3 &= aq \end{aligned} \left. \vphantom{\begin{aligned} a_1 &= \frac{a}{q} \\ a_2 &= a \\ a_3 &= aq \end{aligned}} \right\} \frac{a}{q} \times a \times aq = 27 \rightarrow a^3 = 27 \rightarrow \underline{a = 3}$$

$$\text{if } a = 3 \rightarrow \frac{3}{q} + 3 + 3q = 12 \rightarrow 3q^2 - 12q + 3 = 0$$

$$\Delta \rightarrow \frac{10 \pm \sqrt{100 - 44}}{4} = \frac{10 \pm 8}{4} \rightarrow \begin{aligned} & \rightarrow 3 \\ & \rightarrow \frac{1}{3} \end{aligned}$$

$$q = 3 \rightarrow \text{دنباله} = 1, 3, 9$$

$$q = \frac{1}{3} \rightarrow \text{دنباله} = 9, 3, 1$$

$$\begin{aligned} & a, aq, aq^2, aq^3, aq^4, \dots, aq^{n-2}, aq^{n-1} \\ & \downarrow \quad \downarrow \quad \downarrow \quad \downarrow \quad \downarrow \\ & aq - a \quad aq^2 - aq \quad aq^3 - aq^2 \quad aq^4 - aq^3 \quad \dots \quad aq^{n-1} - aq^{n-2} \\ & \downarrow \quad \downarrow \quad \downarrow \quad \downarrow \quad \downarrow \\ & a(q-1) \quad aq(q-1) \quad aq^2(q-1) \quad aq^3(q-1) \quad \dots \quad aq^{n-2}(q-1) \end{aligned}$$

مساعدت هر فرد $a(q-1)$ است. تعداد دفعات در q ضرب می‌شود.
بنابراین قدر نسبت q است

$$a + a + d + a + 2d + a + 3d + \dots + a + (n-1)d$$

سوال ١٠

$$(1 + 1 + \dots + (n-1))d =$$

مجموعه اعداد از ١ تا n-1

$$d \cdot \frac{(n-1)(n-1+1)}{2} = \frac{n(n-1)}{2}d$$

$$na + \frac{n(n-1)d}{2} = \frac{n}{2}(2a + (n-1)d)$$

$$S_n = \frac{n}{2}(2a + (n-1)d)$$

$$S_n = a, \cancel{aq}, \cancel{aq^2}, \cancel{aq^3}, \dots, \cancel{aq^{n-2}}, \cancel{aq^{n-1}} \quad (\hookrightarrow)$$

$$S_n q = \cancel{aq} + \cancel{aq^2} + \cancel{aq^3} + \cancel{aq^4}, \dots, \cancel{aq^{n-1}}, aq^n$$

$$S_n q - S_n = aq^n - a \rightarrow S_n(q-1) = a(q^n - 1)$$

$$S_n = \frac{a(q^n - 1)}{q - 1}$$